e e 1500 1561 600 1506 Iil DOUBLE HUNG WINDOW

1501 NORTHPOINT PARKWAY, SUITE 101 !
WEST PALM BEACH, FL 33407 USA ARCHITECTS' CATALOG

LUXBAUM




Laszlo Wagner

CEO & Founder
laszlo.wagner@luxbaum.com

Putu Udayana

General Manager

Mogo Yusina Kadena

Assistant Manager

Ketut Rai Sami

Production Estimator

Judy Luca

Controller
judy.luca@luxbaum.com

Judy Wilber

Executive Assistant - Project Manager
judy.wilber@luxbaum.com

Andrea Mendoza

CAD Manager - Shop Drawings
andrea.mendoza@Iuxbaum.com

David Vander Wiele

Senior Installation Manager
dave.vanderwiele@luxbaum.com

Peter Stalder

Installation Manager
peter.stalder@Iluxbaum.com

www.luxbaum.com

LUXBAUM WINDOWS + DOORS
T: 1.561.684.1500 F: 1.561.689.1506

1501 NORTHPOINT PARKWAY, SUITE 101, WEST PALM BEACH, FL 33407 USA



ARCHITECTS' CATALOG

DOUBLE HUNG WINDOW

page |9

Scale: 1-1/2":1‘-0"\

DHW-HEADER

| colen
N

A3)

‘15‘
@)

\21\
(14)

DESCRIPTION

Drywall

Framing

Shim Shingles Max. 1/4"

Casing

Jamb Header

Jamb Sill

Jamb Leg

Jamb Extension

Pro-R Guard Fast Flash

Pro-R Guard Air Dam

2Blolo|~o|a|s|w[N|- |

Glasstop

Jun
N

Impact Glass / Insulated Glass

-
w

Stucco

-
~

Sash

-
(2]

Brickmold

DHW-MEETING STYLE

19)

e
\1:1\
‘]:Z‘

a7)
00
~{14)

=
(2]

Buck / Framing

iy
-

Glazing - Dow 995

=
(e

'FFI' - Operating Hardware

-
©

‘Centor’ - Track

N
o

'Centor' - Hardware

DHW-SILL

=

OlO[

INr®

13

116

N
iy

Gasket / Weather Seal

N
N

Operating Handle

N
w

Fillet

N
=

‘Centor' Bug Screen System

25

Threshold

100

23 Gauge Pin Nail 1"

100a

23 Gauge Pin Nail 1-3/8"

100b

23 Gauge Pin Nail 2"

100

23 Gauge Pin Nail

108

#8 X 1 1/2" Wood Screw SS

112

#14 X 2 1/2" Wood Screw SS

112a

#14 X 4" Wood Screw SS

112b

#14 X 3 1/2" Wood Screw SS

112C

#14 X 3 1/4" Wood Screw SS

(112D

#14 X 5 1/2" Wood Screw SS

112e

#14 X 1 1/2" Wood Screw SS Pan Head

116

Tapcon 1/4" x 3 1/4" SS

116a

Tapcon 1/4" x 1-3/4" SS Hex

116b

Tapcon 1/4"x 2" SS

116¢

116d

J
Tapcon 1/4" x 4" SS
Tapcon 1/4" x 3-3/4" SS philips

118

#8 X 1 1/2" Strap Screw SS

212

Strap 1-1/2" x 1-3/4" SS

213

Monarch Z Clip

LLINSTALLATIONS T0 BE EXECUTED AS PEA THE APPLCABLE FLST. APPROVALS,




DHW-JAMB LEG 13C|13D
| | | l
\ \ \ \
14C 14D
DHW-TRANSOM
l | | | w
110
\ \ \ \ Fia g
19 5) @) ; -
LUXBAUM WINDOWS + DOORS l 1501 NORTHPOINT PARKWAY , SUITE 101

T:1.561.684.1500 F:1.561.689.1506

LUXBAUM

« OO0ORS

WEST PALM BEACH, FL 33407 USA




ARCHITECTS CATALOG

DOUBLE HUNG WINDOW

page 20

Scale: l-1/2"=1‘-0"‘ 15A ‘

DHW-HEADER

| colen
N

A3)

‘15‘
@)

\21\
(14)

DHW-MEETING STYLE

19) )
T A = - 100

DESCRIPTION

Drywall

Framing

Shim Shingles Max. 1/4"

Casing

Jamb Header

Jamb Sill

Jamb Leg

Jamb Extension

Pro-R Guard Fast Flash

Pro-R Guard Air Dam

2Blolo|~o|a|s|w[N|- |

Glasstop

Jun
N

Impact Glass / Insulated Glass

-
w

Stucco

-
~

Sash

-
(2]

Brickmold

=
(2]

Buck / Framing

iy
-

Glazing - Dow 995

=
(e

'FFI' - Operating Hardware

-
©

‘Centor’ - Track

N
o

'Centor' - Hardware

1)

DHW-SILL

I

13

=

116

[ R R D
ENY

N
iy

Gasket / Weather Seal

N
N

Operating Handle

N
w

Fillet

N
=

‘Centor' Bug Screen System

25

Threshold

100

23 Gauge Pin Nail 1"

100a

23 Gauge Pin Nail 1-3/8"

100b

23 Gauge Pin Nail 2"

100

23 Gauge Pin Nail

108

#8 X 1 1/2" Wood Screw SS

112

#14 X 2 1/2" Wood Screw SS

112a

#14 X 4" Wood Screw SS

112b

#14 X 3 1/2" Wood Screw SS

112C

#14 X 3 1/4" Wood Screw SS

(112D

#14 X 5 1/2" Wood Screw SS

112e

#14 X 1 1/2" Wood Screw SS Pan Head

116

Tapcon 1/4" x 3 1/4" SS

116a

Tapcon 1/4" x 1-3/4" SS Hex

116b

Tapcon 1/4"x 2" SS

116¢

116d

J
Tapcon 1/4" x 4" SS
Tapcon 1/4" x 3-3/4" SS philips

118

#8 X 1 1/2" Strap Screw SS

212

Strap 1-1/2" x 1-3/4" SS

213

Monarch Z Clip

LLINSTALLATIONS T0 BE EXECUTED AS PEA THE APPLCABLE FLST. APPROVALS,




DHW-JAMB LEG 158

it al
DHW-GANGED 168

DHW-TRANSOM
O | |
w07 110~
{9 | \ \ [ B P

L
LUXBAUM WINDOWS + DOORS l 1501 NORTHPOINT PARKWAY , SUITE 101
T:1.561.684.1500 F:1.561.689.1506 WEST PALM BEACH, FL 33407 USA

LUXBAUM

« OO0ORS




page 2|

ARCHITECTS CATALOG

DOUBLE HUNG WINDOW

1ybioH Aiuosep

1BiaH awe.d
1yBioH quer
=0 109 1WBIBH yses OIS =l
) i / \‘ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ \[[\j
wﬁﬁ - W -]
AW'&WM ] JHHHHM \
N._—" ]
8 = v o N8
A T E
~r e 190 Buusdo Ies) AP Mo~




Masonry Opening

Jamb width
|’ z" L H L Z||4>
18 516 Sash Width 516 18
ﬁ/\—\ /—/\ﬁ

g"*%‘ T J ] 77T L il N ] 7 ‘ g"

ad ~ = eE

1. / A 1,

6 +— “6

~ _ //// \ E

B |

ll_ H@" “ i = : I 1!_ ]176"
5, S G 5,
8 il 8
Al . < 2
3 o ° § .3
4 | 4
1II4> L» | l" llL» li» | l"
8 ﬂ? 4 3 3 3 3 4 472 8
*1@" 2%.H5 zg";» 5 5 <72@" 1252-VI 1@”4»
L I po C | | poll L O
6g 8 Clear Opening width 3 63
Scale: 3'=1"-0"
LUXBAUM WINDOWS + DOORS . 1501 NORTHPOINT PARKWAY , SUITE 101
T:1.561.684.1500 F:1.561.689.1506 WEST PALM BEACH, FL 33407 USA

LUXBAUM




page 22

1BIeH swel [e10L

1BIeH quer [e0]

22 [7/81

wnod3 “wnd3

=

(1amo1 + Jaddn) BIaH yses [e1oL

“j 341 5/16]

w
Lo
=
3 WbieH yses Jamor ¢
| 1yBIaH yses Jaddn ,
J +1.9T/2 €] 88+ aurT bis {9T/ST T G/ aun 1bis ~{.9T/. €] 88
|
| : ﬁ
Aoy
[
. s BERRE
,A\/;! - | -

ARCHITECTS CATALOG

DOUBLE HUNG WINDOW

1BIaH sse|n 1BiaH sse9

8/T 2] 7§
Buiuado tea|d

36 [1 7/16]
36 [1 7/16]




. 189[7 7/167

Clear Opening
54 [2 1/187 Glass Width 54 [2 1/181
88 [3 7/16"] Sight Line 88 [3 7/16"

189[7 7116

o —
=
DTS
o — g
= /
o)) /
Q ! :
\\ . // ’_‘ f E| ) ’_‘ \\ o -
43[111167 60 [2 318" Sash Width 60 [2 318"}
.70 [2 3/4'] Brickmold Width 70 [2 3141+
441 314" Jamb Width 441 314"
Total Frame Width
Scale: 3'=1"-0"

LUXBAUM WINDOWS + DOORS

T:1.561.684.1500 F:1.561.689.1506

LUXBAUM

1501 NORTHPOINT PARKWAY , SUITE 101
WEST PALM BEACH, FL 33407 USA




ARCHITECTS CATALOG

DOUBLE HUNG WINDOW

page 23

16—

113

113

7

A

16 ey

13)

15
10

21
14

DESCRIPTION

Drywall

Framing

Shim Shingles Max. 1/4"

Casing

Jamb Header

Jamb Sill

Jamb Leg

Jamb Extension

Pro-R Guard Fast Flash

Pro-R Guard Air Dam

2Blolo|~o|a|s|w[N|- |

Glasstop

Jun
N

Impact Glass / Insulated Glass

-
w

Stucco

-
~

Sash

-
(2]

Brickmold

=
(2]

Buck / Framing

iy
-

Glazing - Dow 995

=
(e

'FFI' - Operating Hardware

-
©

‘Centor’ - Track

N
o

'Centor' - Hardware

N
iy

Gasket / Weather Seal

N
N

Operating Handle

N
w

Fillet

N
i

‘Centor' Bug Screen System

25

Threshold

100

23 Gauge Pin Nail 1"

100a

23 Gauge Pin Nail 1-3/8"

100b

23 Gauge Pin Nail 2"

100

23 Gauge Pin Nail

108

#8 X 1 1/2" Wood Screw SS

112

#14 X 2 1/2" Wood Screw SS

112a

#14 X 4" Wood Screw SS

112b

#14 X 3 1/2" Wood Screw SS

112C

#14 X 3 1/4" Wood Screw SS

(112D

#14 X 5 1/2" Wood Screw SS

112e

#14 X 1 1/2" Wood Screw SS Pan Head

116

Tapcon 1/4" x 3 1/4" SS

116a

Tapcon 1/4" x 1-3/4" SS Hex

116b

Tapcon 1/4"x 2" SS

116¢

116d

J
Tapcon 1/4" x 4" SS
Tapcon 1/4" x 3-3/4" SS philips

118

#8 X 1 1/2" Strap Screw SS

212

Strap 1-1/2" x 1-3/4" SS

213

Monarch Z Clip

LLINSTALLATIONS T0 BE EXECUTED AS PEA THE APPLCABLE FLST. APPROVALS,




pA

Scale; 3'=1"-0"

LUXBAUM WINDOWS + DOORS I
T:1.561.684.1500 F:1.561.689.1506

LUXBAUM

NS & DOORS

1501 NORTHPOINT PARKWAY , SUITE 101
WEST PALM BEACH, FL 33407 USA




ARCHITECTS CATALOG

DOUBLE HUNG WINDOW

page 24

16/ (19031101097 | 4 /18

-
ol
ok =
[—
T
4

|
o 1

\l
o
B

116 (13125 (15, (21

100
11
12)
21
107,
108

DESCRIPTION

Drywall

Framing

Shim Shingles Max. 1/4"

Casing

Jamb Header

Jamb Sill

Jamb Leg

Jamb Extension

Pro-R Guard Fast Flash

Pro-R Guard Air Dam

2Blolo|~o|a|s|w[N|- |

Glasstop

Jun
N

Impact Glass / Insulated Glass

-
w

Stucco

-
~

Sash

-
(2]

Brickmold

=
(2]

Buck / Framing

iy
-

Glazing - Dow 995

=
(e

'FFI' - Operating Hardware

-
©

‘Centor’ - Track

N
o

'Centor' - Hardware

)
=

Gasket / Weather Seal

N
N

Operating Handle

N
w

Fillet

N
i

‘Centor' Bug Screen System

25

Threshold

100

23 Gauge Pin Nail 1"

100a

23 Gauge Pin Nail 1-3/8"

[L00b

23 Gauge Pin Nail 2"

100

23 Gauge Pin Nail

108

#8 X 1 1/2" Wood Screw SS

112

#14 X 2 1/2" Wood Screw SS

112a

#14 X 4" Wood Screw SS

112b

#14 X 3 1/2" Wood Screw SS

112C

#14 X 3 1/4" Wood Screw SS

112D

#14 X 5 1/2" Wood Screw SS

[112e

#14 X 1 1/2" Wood Screw SS Pan Head

116

Tapcon 1/4" x 3 1/4" SS

116a

Tapcon 1/4" x 1-3/4" SS Hex

[116b

Tapcon 1/4" x 2" SS

116¢

Tapcon 1/4" x 4" SS

l116d

Tapcon 1/4" x 3-3/4" SS philips

118

#8 X 1 1/2" Strap Screw SS

212

Strap 1-1/2" x 1-3/4" SS

213

Monarch Z Clip

L NSTALLATIONS T0 B DXECUTED AS P The APPLCABLE FLST_ APPROVALS.




P

o)
N
=

B

Bl b

108

oo~

119 (15 17,

e

110+

Scale; 3'=1"-0"

LUXBAUM WINDOWS + DOORS
T:1.561.684.1500 F:1.561.689.1506

LUXBAUM

1501 NORTHPOINT PARKWAY , SUITE 101
WEST PALM BEACH, FL 33407 USA




ARCHITECTS CATALOG

MAXIMUM DIMENSIONS

page 25

- |
7 Va
/ / ‘
7 7
Double Hung Window Double- or Single-

Hung Window
5-2"x9-0"

Triple Double- or Single-
Hung Window
15-7"x 9-0"




L

\ 1

7 7 \
7 7
Z Z ‘
7 Va
Double Hung Window Double- or Single-

Hung Window with Transom
5-2"x 14-0"

Triple Double- or Single-
Hung Window with Transom
15-7"x 14-0"

Scale: 1/4'=1-0"

LUXBAUM WINDOWS + DOORS
T:1.561.684.1500 F:1.561.689.1506

LUXBAUM

1501 NORTHPOINT PARKWAY , SUITE 101
WEST PALM BEACH, FL 33407 USA




